Enrollment No:

Subject Code : 2TEOSWRM1
Semester : 5

Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Water Resource Management

Instructions:

(1) Use of programmable calculator & any other electronic instrument is prohibited.

Branch :Diploma (Civil)
Date : 03/12/2018 Time:10:30 To01:30 Marks: 70

(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.
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a)
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)
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Attempt the following questions:

Careful management of water catchment areas results in
(@) more desertification (b) more deforestation

(c) less waste of water
In India maximum rainfall occurs at

(d) more waste of water

(a) Barmer in West Rajasthan (b) Amritsar in Punjab
(c) Cherapunji in Assam (d) Bombay in Maharashtra

For determination of average annual precipitation in a catchment basin, the

best method is

(a) Arithmetical mean method  (b) Thiessen's polygon method

(c) Isohyetal method

feature, is called

(d) None of these
Precipitation caused due to striking of air masses with a topographical

(a) orographic precipitation  (b) convective precipitation

(c) cyclonic precipitation

(d) none of these

The rainfall hyetograph is the graph drawn between

(a) cumulative rainfall and time

(b) rainfall depth and area

(c) rainfall intensity and cumulative rainfall (d) rainfall intensity and time

Unit of runoff in M.K.S. system is
(a) cubic metre/sec  (b) metre/sec

(a) runoff and time

(c) cubic metre  (d) square metre
The best unit duration of storm for a unit hydrograph is

(@) 1 hour (b) one-fourth of basin lag

(c) one-half of basin lag (d) equal to basin lag

Hydrograph is the graphical representation of

(b) surface runoff and time

(c) ground water flow and time (d) rainfall and time

The runoff increases with
(a) increase in intensity of rain
(c) increase in permeability of soil

Most fertile soil is

(b) increase in infiltration capacity
(d) all of the above

Which one of the following is not a component of drip irrigation system?
(@ swingarm  (b) dripper  (c) gate valve  (d) head tank

(a) alluvium (b) black soil  (c) laterite soil  (d) red soil
Useful soil moisture for plant growth, is

(a) capillary water (b) gravity water

(c) hygroscopic water (d) chemical water
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Q-2

Q-5

Q-6

Q-7

m) An unconfined aquifer is also called
(a) water table aquifer (b) artesian aquifer
(c) leaky aquifer (d) perched aquifer
n) The ratio of volume of water drained to the volume of soil sample is

(@)
(b)

(©)

()
(b)

(@)
(b)

(@)
(b)

(a)
(b)

(a)
(b)
(@)
(b)

(@) porosity (b) specific yield

(c) specific retention(d) storage coefficient
Attempt any four questions from Q-2 to Q-8

Attempt all questions

What is the necessity of water resource management?

Write a different type of rain gauge and describe any one recording type of

rain gauge with figure.

Describe the assumptions made in unit hydrograph.

Attempt all questions

Write the steps to remove shortage of water in draught affected areas.
Write a note on types of precipitation.

Attempt all questions

Enlist the methods of determining average rain fall. Discuss any one in

detail.

Calculate the average rainfall by arithmetic average method and Thiessen

polygon method for following data:

Rain gauge P Q| R[S | T
Rainfall in mm 700 | 550 | 680 | 830 | 575
Area of Thiessen polygon | 120 | 90 | 140 | 150 | 95
Attempt all questions
Explain the factors affecting runoff.
The ordinates of 3-hour unit hydrograph are given below
Time (hr) 0| 3|6 |9 |12(15|18 |21 |24|27 |30
Discharge(cumec) 0| 9 |17 |26 120 |13 (11| 8 | 6 | 3 | O

Develop a unit hydrograph of 6-hour duration.

Attempt all questions

What is drip irrigation? Draw detailed sketch of it showing various parts.

List out the various computations of runoff and describe any one of them.

Attempt all questions

Explain recharge well method of recharging ground water.

Write the ill effects of water logging and write the remedial measures to

prevent water logging.
Attempt all questions
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State the different remedial measures to control sea-water intrusion and 07

explain any one method.

Define “Sea Water Intrusion”. Explain causes of sea water intrusion.
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Attempt the following questions:
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

()
(b)

(©)

()
(b)

(@)

(b)

(@)
(b)

Attempt all questions (14)
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Attempt all questions (14)
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Attempt all questions (14)

A2 aRAle Aucloll I ofl atél slolldl, wA As QA Qotdauz 97
AW,

R a2l AUARUADNANAA I A Aot 2t u el xRt 07
AULEA.

clRULEINY Pl Q| R | S| T
wa@ueHlAl. 700 | 550 | 680 | 830 | 575
et WANote] A2gn (AL (5{) | 120 | 90 | 140 | 150 | 95
Attempt all questions (14)
ol gal WAUR 5l WRGON (AL AHestal. 07

QL SELS ol UHUL IO HE AsH FAUAUN olt 200 ol Yaud 2 de 97
8.

UHA (SCULS) 0| 3|6 |9|12]15|18|21|24|27]30
(S (s2jRs) |0 9 |17 26 |20|13 (11| 8 | 6 | 3| O
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Q-6

Q-7

Q-8
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(b)

()
(b)

()

(b)

Roll UR Al 6 SCELS HIS oll ASH FALAW oll A1H AN,
Attempt all questions
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Attempt all questions
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Attempt all questions
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